T
—+

=/u
X

T H 4 B

BN BB B EBKSE T

i I %5 P

BTi/ANERT29—1

Y

BRGNS Sf 34 1H 15HET

ax At B 2

CEPR B EBKSE




INEINFRCE BUR R SE T T RE AR FE R N AR
w oo g & 12,376,100 4
T 5 fil #% 4 11,251,000 4
1,125,100 4

{H 2 PiAH 4 %A 4B




B W

INEINEREEBBEE LHKRELISE No.
£ b1 5 = B B i il 4] i
RN X
I| #ETEHE 1] K 7,542,258
HHE T HEH 7,542,258
Hm
I Y 541,854
B E g = 1,584,408
fe s By = 1,582,736
Fam 3,708,998
EFF 11,251,256
A EH KA (L FmE) SREES iUl ae 11,251,000
TH B Bl S AH 24 %R 1,125,100
WA (LEE) 12,376,100




% IMENEREERE EHKRETSE No.

% b i3] = # 2 Bifg B i & 28
I |BEITS
1 |[EERGETE 1 K 764,250
2 Bk IS 1 = 6,320,736
3 |BEUETE 1 X 3,450
4 | 1 = 453,822
&t 7,542,258




